FAF 2P PR RIFERS2EP Y 9 X2 FHFSH A (4/19-4/23)
o F- F - F= Fw 3 TE L2 | o = |pre
Ty [ =w iy | =& R Spy | =i R PR T R i
301 |E—REF 6 | 106 100 100 -4 96 |EAAFEST|-10 2 | 92 | 0.00% | 98.80 301
302 | E—REFSY 2 |102 100 100 | -10 90 |HEAARFS 6 [106| 0.00% | 99.60 | 6 | 302
303 | #E—REFS 100 -4 96 100 -8 92 |'BAARET| -2 98 | 0.00% | 97.20 303
304 |#E—AEEY| -8 92 100 100 -8 92 |HAARTSY 100 | 0.00% | 96.80 304
305 |E—FEEsy] 10 2 | 92 100 100 100 A AEF5 | -10 90 | 0.00% | 96.40 305
306 | E—RFFs 100 100 100 -4 2 98 |HAART| -2 98 | 0.00% | 99.20 306
307 [B—FEF7| -10 4 | 94 -8 92 10 110 | -4 96 BT 4 |104|49.16% | 99.69 | 5 | 307
308 |#E—A#Fsr| -10 10 | 100 100 10 10 | 120 10 10 | 120 |HEAAREST 6 | 106 | 0.00% | 109.20| 3 | 308
309 [E—FREESY 4 |104 100 100 4 104 | BH AT | -14 86 | 0.00% | 98.80 309
310 [E—F5F5 100 -4 96 4 104 | -10 90 A ASY| -12 2 | 90 | 0.00% | 96.00 310
311 | E—A5Fsy 10 | 110 10 10 | 120 10 10 | 120 10 10 | 120 |HHARFESY 10 [ 110 | 0.00% |116.00| 2 | 311
312 [R5y 10 | 110 10 10 | 120 10 10 | 120 10 10 | 120 |’HAFEESY 10 | 110 | 63.45% | 116.63| 1 [ 312
313 | B—A&F5r| -10 90 100 100 | -10 -4 86 |HAAEST| -10 90 | 0.00% | 93.20 313
314 | B—F5¥r| -4 96 100 100 100 | Ay 100 | 0.00% | 99.20 314
315 |#E—F=Esy| 12 2 | 90 -4 96 100 | -10 90 AT 100 | 0.00% | 95.20 315
316 |B—F5¥3| 10 2 | 92 | -8 -4 88 | -8 92 100 | AR | -14 86 | 0.00% | 91.60 316
317 |B—FsF3| -2 4 | 102 -4 96 100 -4 96 |HAARFIT| -2 98 | 0.00% | 98.40 317
318 |#E—FFEF| 10 2 | 92 10 | -4 106 | -12 88 10 10 | 120 |EHHAFEST| -10 8 | 98 | 0.00% | 100.80| 4 | 318
319 |#E—AFFs3| -2 2 | 100 100 100 | -10 90 |HEAAFY|-10 8 | 98 | 0.00% | 97.60 319
320 |[#E—FzF5r| -10 90 100 100 100 |"AH AR5y | -10 90 | 0.00% | 96.00 320




